LOSUNG zu bsp-7542-1/PNZA

Arbeitsblatt

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 7542

Aufgabe 1

Ergénze wie im Beispiel a).

a) 3,68 km = 3 km 680 m = 3680 m
¢)1,bem =1cem 5 mm = 15 mm
e) 6,5 cm = 6 cm 5 mm = 65 mm

g) 35,1l m =35m 1 dm = 351 dm

i) 216,2 m = 216 m 2 dm = 2162 dm j)
Aufgabe 2

Ergénze wie im Beispiel a).

a) 82,39 kg = 82 kg 390 g = 82390 ¢

¢) 790,44 kg = 790 kg 440 g = 790440 g
d) 536,38 kg = 536 kg 380 g — 536380 g
f) 042,76 kg — 942 kg 760 g — 942760 g
g) 954,63 kg = 954 kg 630 g = 954630 g
h) 842,31 kg — 842 kg 310 g = 842310 g
i) 463,92 kg — 463 kg 920 g — 463920 g

b)

Aufgabe 3

Ergénze wie im Beispiel a).

a) 10,79 Euro = 10 Euro 79 Cent = 1079 Cent
b) 53,97 Euro = 53 Euro 97 Cent = 5397 Cent
¢) 72,54 Euro = 72 Euro 54 Cent = 7254 Cent
d) 67,16 Euro = 67 Euro 16 Cent = 6716 Cent
e) 65,58 Euro = 65 Euro 58 Cent = 6558 Cent
f) 43,97 Euro = 43 Euro 97 Cent = 4397 Cent
g) 93,21 Euro = 93 Euro 21 Cent = 9321 Cent
h) 40,96 Euro = 40 Euro 96 Cent = 4096 Cent
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b) 269,8 m = 269 m 8 dm = 2698 dm
d) 567,9 m = 567 m 9 dm = 5679 dm
) 940,2 m = 940 m 2 dm = 9402 dm
h) 3,2dm = 3 dm 2 cm = 32 cm

3,6 dm = 3 dm 6 cm = 36 cm

76,9t = 76 t 900 kg = 76900 kg

e) 67,79 t = 67 t 790 kg = 67790 kg

i) 40,46 t = 40 t 460 kg = 40460 kg
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i) 13,49 Euro = 13 Euro 49 Cent = 1349 Cent
j) 28,48 Euro = 28 Euro 48 Cent = 2848 Cent

Aufgabe 4

Quick:
7542

Ergénze wie im Beispiel a).

a) 50,53 a = 50 a 53 m2 = 5053 m> b) 59,02 ha = 59 ha 2 a = 5902 a

¢) 65,26 m2 — 65 m2 26 dim? — 6526 dm> d) 94,6 ha = 94 ha 60 a = 9460 a
¢) 40,51 dm? = 40 dm? 51 em? = 4051 cm?

f) 35,51 ha = 35 ha 51 a = 3551 a

g) 37,45 cm? = 37 cm? 2 _ 3745 mm
h) 1155af11a55m — 1155 m?

i) 96,26 dm? = 96 dm? 26 cm? = 9626 cm
i) 8,25 m% = 8 m® 25 dm? = 825 dm>
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; 2

J

Viel Erfolg!
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